Bl ZZARD

S POVWER PLOWW

7 Wiae

Model 810 Plow Wire Harness
Assembly (P/N 62028)

HARNESS BUILD REQUIREMENTS g

Part Description

1A 62028 1 Plow Wire Harness Assembly (No. 1 - 8, P/N 62005,
62019, 62018, 62004, 62006, 62007)

1 62030 1 Plow Wire Harness
2 61146 1 1-9/32" 0.D., 9 Circuit Sure Seal Receptacle - Cantrol Conn.
3 61138 1 10" Nylon Lanyard
4 61147 1 1/8" Polyethylene Weather Cap (Female) - Control Conn.
5 61140 1 8-32 x 1/2" Machine Screw
6 61141 1 8-32 Z Nylon Insert Lock Nut - Type NM
7 61144 1 2-Way Plastic Connector, Red - Power Connector
8 61145 1 Rubber Weather Cap, Red - Power Connector
N/A | 62005 1 Silicone Toggle Switch Boot Cover with 7/16" Hex Nut Insert
N/A | 62019 1 7/16"-14 Stainless Steel Hex Jam Nut
N/A | 62018 1 7/16"-14 Stainless Steel Serrated Nut
N/A | 62004 1 DPDT, (On)-Off-(On) Toggle Switch, 20 Amps; 125V AC

(Draw Latch Connect/Disconnect)
N/A | 62008 1 Diode Board - Plow Wire Harness
N/A | 62007 1 Diode Board Cover - Plow Wire Harmess

‘N/A | 61148 1 Power Hitch Mounting & Dismounting Instructions Label
(Dual Connector Style)

* The Power Hitoh Mounting & Dismounting Instructions Label (Dual Connector Style) contains specific instruction for the dual connactor
hamesses. Raferance part numbar 61148 for raplacemant labels.

NOTE: The referance numbers listed above identify parts shown in the iflustration to the right. These numbers
are specific to this llustration only and do not correspond with previously issued illustrations. Always review
the part number given lor proper component identification.

Blizzard Corporation reserves the right,
under its Continuous Improvement Policy,
to change construction or design details
and furnish equipment when so altered
without reference to illustrations or
sorzifications. Blizzard Corporation offers
a one-year limited warranty for all snow-
plows and accessories. See your Owner's
Manual for complete warranty information.
Blizzard Corporation does not warranty
non-Blizzard Power Plow service parts
and accessories or damage resulting from
the use of these unauthorized items.

E BLIZZARD

CORPORATION

95 Airpark Boulevard
Calumet, MI 48913
(888) 680-8600
(906) 482-5555
(S06) 482-5445 Fax

The Blizzard Power Plow is proteciod by U.S. patents 5,638,618 and 5,600,007, Other patents pending. Copyright © 1999 Blizzard Corporation. All rights reserved. Magde and printed in the USA. 1067-11-99



https://www.storksplows.com/complete-plows/blizzard.html

